

7

PRICE LIST OF HALCOM CA SERVICES FOR LEGAL ENITITES

Document number: IPS 42271-15-2/25

Valid from: February 18th 2025

Prepared by: Luka Ribičič

Index

1.	Digital certificates	. 3
2.	Halcom One digital certificate (cloud)	. 4
3.	E-seal qualified digital certificate	. 4
4.	Website authentication certificate	. 5
5.	Smart card readers	. 5
6.	Resending returned shipments	. 5

1. Digital certificates

ADVANCED QUALIFIED DIGITAL CERTIFICATE FOR LEGAL ENTITIES ON SMART CARD Qualified digital certificates with two key pair and mandatory use of a smart card can be used for secure electronic signature, for encryption and access control. You need a smart card reader to work.

	Informative calculation of the price per 1 year	Validity of the certificate	Price with 22% tax, validity 3 years
1. Standard issue procedure Digital certificate is issued no later than 5 working days after the submission of all necessary documentation and payment received.	38,33€	3 years	115,00€
2. »QUICK« order The digital certificate is issued within 1 day after the submission of all necessary documentation and payment received	43,33€	3 years	130,00€

ADVANCED QUALIFIED DIGITAL CERTIFICATE FOR LEGAL ENTITIES ON USB KEY Qualified digital certificates with two key pair and mandatory use of a USB key can be used for secure electronic signature, for encryption and access control.

	Informative calculation of the price per 1 year	Validity of the certificate	Price with 22% tax, validity 3 years
1. Standard issue procedure Digital certificate is issued no later than 5 working days after the submission of all necessary documentation and payment received.	USB A 43,33 € USB C 46,66 €	3 years	usb a 130,00 € usb c 140,00 €
2. »QUICK« order The digital certificate is issued within 1 day after the submission of all necessary documentation and payment received.	USB A 50,00 € USB C 53,33 €	3 years	USB A 150,00 € USB C 160,00 €

RENEWAL OF A QUALIFIED DIGITAL CERTIFICATE			
	Informative calculation of the price per 1 year	Validity of the certificate	Price with 22% tax, validity 3 years
1. RENEWAL - Enrolment of qualified digital certificate for legal entities on existing smart card or USB key	23,33€	3 years	70,00€
2. RENEWAL – Electronic order of qualified digital certificates on a new smart card	30,00€	3 years	90,00€
3. RENEWAL – Electronic order of qualified digital certificates on a new USB key	36,67€	3 years	110,00€



2. Halcom One digital certificate (cloud)

HALCOM ONE QUALIFIED DIGITAL CERTIFICATE is a universal identifier that provides an excellent user experience and a high level of security. It enables fast and easy two-stage authentication and digital signing of documents based on a digital signature in the cloud.

	Informative calculation of the price per 1 year	Validity of the certificate	Price with 22% tax, validity 3 years
1. Existing user If you already have Halcom certificate on USB stick or card, use Halcom One as an additional service.	4,00€	3 years	12,00€
2. New user If you do not have a digital certificate, select this option.	8,33€	3 years	25,00€

3. E-seal qualified digital certificate

E-SEAL QUALIFIED DIGITAL CERTIFICATE is similar to an electronic signature, with the difference that the signatory is not a natural person with a name and surname, but a legal entity as a whole. A qualified electronic stamp with one pair of keys is used for secure electronic stamping, encryption and access control.

	Informative calculation of the price per 1 year	Validity of the certificate	Price with 22% tax, validity 3 years
1. Standard issue procedure on smart card Digital certificate is issued no later than 5 working days after the submission of all necessary documentation and payment received.	38,33€	3 years	115,00€
2. Standard issue procedure on USB key Digital certificate is issued no later than 5 working days after the submission of all necessary documentation and payment received.	USB A 43,33 € USB C 46,66 €	3 years	usb a 130,00 € usb c 140,00 €
3. Issuance of e-seal qualified digital certificate for systems (HSM, devices, servers, etc.) The digital certificate is issued no later than 5 working days after the submission of all necessary documentation, payment received and electronic request.	95,00€	3 years	285,00€



4. Website authentication certificate

WEB AUTHENTICATION CERTIFICATE is used to certify the public keys of users and organizations that have a valid web address. The server key is used to encrypt a single symmetric session key, which then secures all communication between the server and the client.

	Validity of the certificate	Price with 22% tax, validity 1 year
Issuance of a certificate for website authentication	1 year	100,00€

5. Smart card readers

Reader type	Price with 22% tax
HID Omnikey 3121 (USB - input)	35,00€
HID Omnikey 3021 (USB - input)	30,00€
IDBridge K30 USB (USB Type-A) for SIM smart card	25,00 €
ACR40T-A5 (USB Type-C) for SIM smart card	30,00€

Note: Goods and services are delivered or they start to be implemented after the payment has been made.

6. Resending returned shipments

	Price with 22% tax
Smart card or USB key	6,50€
PIN/PUK code	6,50€



88 halcom

Halcom d.d. Dunajska cesta 123 1000 Ljubljana Slovenija

T + 386 1 200 33 40 E info@halcom.si

www.halcom.com

in f 🖻